11.

13.

y = 222 — 20z + 57
Vertex: y = 222 — 20z + 57 = 2(2? — 10z) + 57
= 2(z% — 10z + 25) + 57 — 50 = 2(x — 5)? + 7. Vertex is at (5, 7).

z-intercepts: y =0 = 0=2x2-20z+457=2(z-5)%+7 <&
2(z — 5)? = —7. Since this last equation has no real solution, there are
no z-intercepts. '

y-intercepts: x =0 = y = 57. The y-intercept is at y = 57.

y=—42%—16z+3

Vertex: y = —4z? — 16z + 3 = —4(z% + 4z) + 3
= —4(2? + 4z +4) + 3+ 16 = —4(x + 2)> + 19. Vertex is at
(-=2,19).

z-intercepts: y =0 = 0= —4x2—16x+3=—4(z+2)?+19
& 4z+2)?2=19 & (z+2?2=2 =

T+2=4,/8 =:I:@ & = —2i@. The z-intercepts are
atw=—2—@andx=—2+@.

y-intercepts: £ =0 =y = 3. The y-interceptis aty = 3.
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